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⇨Coal burnt in The US is 
equal to enormous values 
thats why they have many 
damages in the rainforests 
of Amazon and the habitat 
of many animals that are 
about to extend and are 
preserved to protect them 
from extension.  
⇨1000 kg of coal. 0.03=30 
kg of sulfur per ton  
⇨Each ton of coal burnt by a US 
power station give enough 
Sulfuric acid to dissolve about 94 
kg of limestone  
⇨Not only in the US but also acid 
rains became a tremendous 
issue in 1929 for the british 
power generation as in the British 
house if lords ruled a power 
station which was able to 
damage many areas planting 
crops of vegetables which really 
affected the economy of many british lands.  
⇨With the hard work and the good researches of scientist, limestone 
scrubber was created to remove sulfuric acid use it to het more 
gypsum without letting the Sulfuric acid leaving the smoke stack.  
⇨The effect of the limestone scrubber was slightly effective as about 
95 % of sulfur produced in coal-fired power station in the US is 
removed before leaving the smoke stack  
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